Graphing inequalities
Scouts from Hampshire and East Anglia are going to a Scout jamboree in Scotland. 

From these counties there are to be at least 14 but fewer than 20 Scouts.

Fewer than 10 are to be from Hampshire.

The number form East Anglia must not exceed those from Hampshire by more than 4.

a) Write inequalities for x, the number of Scouts from Hampshire and y, the number from East Anglia.

b) Draw a graph to show the possible numbers of Scouts from each of these counties.

c) List all of the possible combinations of Scouts.
